






21.  If ABCD is a parallelogram named in standard notation, which of the following 
must always be true? ____________

a) �C � �D b) �A � �C c) m�B + m�D = 180

d) AB || BC e) AC � BD d) All of these

22.  Find the area of the regular pentagon shown to the right. Area =  ____________
(Note: P is the center of the pentagon)

23.  If four angles of a pentagon have measures of 105O, 75O, 145O, and 130O, 
then the measure of the fifth angle is? ____________

a) 95O b) 80O c) 100O d) 85O e) 145O

24.  The area of the parallelogram shown to the right is _______________

a) b) 

c) d) 
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2. Use the figure to the right to complete 
the following statements. In the figure, 
JT is tangent to �Q at point T.

a) If QT = 6 and JQ = 10, then JT = ____________________

b) If QT = 8 and JT = 15, then JQ = ____________________

c) If m�JQT = 60 and QT = 6, then JQ = ____________________

d) If JK = 9 and KQ = 8, then JT = ____________________
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5. 6. m�1 = ________

m�1 = ________

7. m�1 = ________ 8. y = _________
m�2 = ________ x = _________

9. x = ________ 10. m�1 = ______
y = ________ x = _________

y = _________
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5. Find EQ in �Q, EQ = _________ 6. Find mCB in �Q, mCB = _________
if CD = 10 and DQ = 9. if mCD = 96O

7. Find DC in �Q. DC = _________ 8.  Find BD and AC in �Q. BD = _______
AC = ________

9. Find CB in �Q, given CB = _________ 10.  Find CE in �Q. CE = _______
that CD = 16, AQ = 9 
and EQ = 5
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3. Find x in �Q. x = _________ 4. Find mAD in �Q. mAD = _________

5. Find CD in �Q. CD = _________ 6. Find AC and AE in �Q. AC = _________
AE = _________

7. Find AB and BC in �Q. AB = _________ 8. AB and AC are m�BAE = _________
BC = _________ tangents to �Q, and

m�BAC = 42O.
Find m�BAE.
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Name

Unit VI - Circles
Part D - Circle Concurrency
Lesson 1 - Theorem 83 - “If you have a triangle, then that triangle is cyclic.”

Lesson 2 - Theorem 84 - “If the opposite angles of a quadrilateral are
supplementary, then the quadrilateral is cyclic.”

1. Quadrilateral ABCD is cyclic. Find x and y. x = _________
y = _________

2. Quadrilateral (Kite) ABCD is cyclic. Find mAB. mAB = _________

Quiz Form A
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3. Given: Quadrilateral XYWZ is cyclic. 
ZY is a diameter of �Q.
XY � WZ

Prove: �XYZ � �WZY

4. The angle bisectors of the angles of �XYZ meet at point Q. 
QX = 75 and QC = 20. Find QB. Explain your answer.

QB = _______________

Complete the following statements by choosing “sometimes”, “always”, or “never”.

5. Rectangles are ____________________ cyclic quadrilaterals.

6. Irregular quadrilaterals are ____________________ cyclic.

7. Regular polygons are ____________________ cyclic.

8. A kite is ____________________ a cyclic quadrilateral.

9. Opposite angles of a cyclic quadrilateral ____________________  add up to 180 degrees.

10. Isosceles trapezoids are ____________________ cyclic quadrilaterals.

STATEMENT REASON
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Determine whether each of the following is always, sometimes, or never true.

________ 13. Congruent chords of different circles intercept congruent arcs.

________ 14. An angle inscribed in a semicircle is a right angle.

________ 15. Two circles are congruent if their radii are congruent.

________ 16. Two externally tangent circles have only two common tangents.

________ 17. A radius is a segment that joins two points on a circle.

________ 18. A polygon inscribed in a circle is a regular polygon.

________ 19. A secant is a line that lies in the plane of a circle, and contains a 
chord of the circle.

________ 20. The opposite angles of an inscribed quadrilateral are supplementary.

________ 21. If point X is on AB, then mAX + mXB = mAXB.

________ 22. The common tangent segments of two circles of unequal radii are congruent.

________ 23. Tangent segments from an external point to two different circles 
are congruent.

________ 24. Cyclic quadrilaterals are congruent.

________ 25. If two circles are internally tangent, then the circles have three 
common tangents.

( ( ( (
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Use the given figure to answer problems 26 to 35.
(Note: AB is tangent to Q at point B)

26. If mDF = 96, find m�DEF. 27. If mCD = 62 and m�EGF = 110, find mEF.

m�DEF = ________ mEF = ________

28. If mDF = 96 and mCE = 40, find m�FAD. 29. If mBFD = 170 and mBC = 110, find m�BAD.

m�FAD = ________ m�BAD = ________

30. Find m�ABQ. 31. If m�ADE = 26, find mCE.

m�ABQ = ________ mCE = ________
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32. If m�ADE = 26, find m�AFC. 33. �DCF � ________.

m�AFC = ________

34. If m�FAB = 18 and mBE = 80, find mBF. 35. If m�BQF = 90, find mBF.

mBF = ________ mBF = ________

For problems 36 to 41, find the value of x, or the indicated angle.

36. x = ________ 37. x = ________
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Use the figure to the right and the given 
information to answer problems 26 to 35.

26. Find m�ABH m�ABH = ______ 27. Find m�ABF . m�ABF = ______

28. Find m�ACF m�ACF = ______ 29. Find m�DQH m�DQH = ______

30. Find m�BQE m�BQE = ______ 31. Find m�CFB m�CFB = ______

Q

H

C

D I
E

G
A

F

B

BH is a diameter of �Q and CA
is tangent to �Q at point B.

mEG = 24
m�HBG = 76
m�BQD = 40
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